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QL. TP UHR & YT | 25% g 8, 3R X UHR & YT | 30% gU 8. TH &l &l
Ugd A & S URT I 3R gy fAgor & DY YR I WRT 7T &, Fsor o gy &1
wfa=rd foran 82

(@) 27%

(b) 31%

() 29%

(d) 33%

(e) 30%
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Q2. fauf¥e sik Uit & & e fryor & 12% U 8. I 7% U1 a1at 37 fyur & 3
e ¥ forem faam sirar @ SR a1 I frgor # smem e urHt fHremar siran 8,
gfonfie fagor § urt &1 ufa=ra g9 Sifem.

@) 17 %
(b)
()

(d) Cannot be determined

16 =%

14—=%

Mone of these
(e)
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Q3. HT &l aTd i T W g &7 U1 I SFuTd AR 3:2,7:3 3R 11: 4, A1
1 foramar smar 8. sifaw fyyor & urit &1 gu & SrquTd foran 82

(a)38:17

(b) 21:11

(c)61:29

(d) 29:61

(e)11:21
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Q4. T ¥ oJd § O TRIS § iR g ¢¥e egd H Uil &1 G0 U 3. U Oid
TR HA F T 20 diex 3n, gt ¢ g | STaT AT @ 3R R gl @ &
faffa fysor A A Q) faerd Frera forar Sirar @ ik uga A ST faur sirar 8. afe ugent
tR E A RA TS, gl CRe @ HI AN A AR AT 8, dl SR A e g |
U1 S {1 914 pifere?

(a) 80 TIex

(b) 60 WX

(c) 40 AfleR

(d)100 e

(e) 120 T
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Q5. U Siad Seid | WRT 8. 398 A Uoh-fagrs fAerar 9irar 8 ok fibe 59 wRA & g
diad A SRR A6 A U= STAT ST 8. 59 Ufshdr &) IR 9R fbar sirar 8. Saa A
S 3R U #1 3ifaw SrguTa F1a Pifem.

iai 13:55
ici 16 : 65

(e)65:16
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Q6. 500 i B TH TNTH |, A BT B B AT | 10% $H F YT FIA 8 R B HI C
Bt g1 W 25% 3 3 YT Bid 8.C B D B AT | 20% HH 3P YT Bid B.
gfe A B 360 3@ UTW 1d &, @ D & gut 3il & foramt wfa=ra i e gu?

(a) 90%

(b) 80%

(c) 50%

(d) 60%

(e) 85%
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Q7. TP gAT1d ¥ Fd Adagarsii # & 8% A 3 die 5! STd. 39 G919 |, Had &l
SWiiCaR € A P glel A | 48% G UTW B4 a1a fastar 3 3= ufagg! @Y 2300
diel A wRiford far. g9 § oo Aderars 1 S@ feadt 47

(a) 61,000



(b) 63,500

(c) 57,500

(d) 67,500

(e) 65,000
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PS B DI | deladl F URUTHRGEY USid S PIHdl | 7% $I dgiasl gidl 8.
q@ﬁ%ﬁ%\;ﬁaﬁmmmﬁuﬁﬁﬂaﬂﬂ IHH gfa 78I+ 2400 fFhatdier ot
AT ST & SR IUPT PR 18 fraifiex Ul diex a& o1 s 3 € Uea ot
BHd § TSI S SR YHA P Ul 71e 07 # g8 gfs F1d S (Frpedd suar
a)?

(a) 270 ®TY
(b) 261 T4
(c) 276 TTY
(d) 272 &I
(e) 267 ®TY
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Q9. U ASH | S Il A ITD! 3T YS! dl TSP A T, '9Id 37 A A1 & 25
AT H & O3 3R & 97 & R & UeTd & df U |1 JeRT 3i1g BT i A1 gii.
gfe I B 3 14 §, O TSP B MY fpa-it 32

(a) 28 T

(b) 21 9%

(c) 14 ¥

(d) 25 9%

(e) 379 ¥ PIS T8l
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Q10. UTT G&HI BT 3 aoi 3 framy & g1 STa1 8, 99 399 ¥ 150 fraumm
IoI & TP AT DI 3] Afed I UfaeTiid fohar Sirar 8. 59 A¢ safad &1 e A
ot o= aafea @ ufauriud fvar Sirar @ foraeT 9w 9@ gR1 ufauifud faa
%uﬁrﬁsoﬁwﬁwé.wa@ma?waﬁﬂaﬁwmuﬁaﬁqm
?

(a) 6 fTparmH

(b) 9

(c) 12



(d) 15 fraumm
(e) STH U BIS Tal

L1Difficulty 3
QTags Average

QCreator Deepak Rohilla

Directions (11-15): fFaferfaa urs-=nd sifeeferar # smaifor 219 cwae 2018 # B8 ¢=1
ERT Siid 7T Ugs! o1 ufererd fadwor gurfar .
Frafafea usl & SR ¢4 & g g 91 &1 wHgd® reaad .

ie: $© ST Uia=d 719 # g 3R $© MU A1H §. $d Ued | waul, I99d 3R i
e § 3R ud® 3= = 9t FiFf ugw oiia €.

England
24 (8/113)% Australia

35(5/113)%

India
11 (77/113)%

South Africa
6(62/113)%

Newzealand
8(16/113)%

Q11. TfE YRH GRT oiid T v Ugeh, IoTd Ug® 3R i U o7 {uTd 13: 10: 10
8 @ HRd §RT oiid vl ugs! &t "= fea-t 87

(a) 30

(b) 32

(c) 26

(d) 40

(e) 45
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Q12. fe HITST GIRT Sitd 7T IqUf Ugdi Bt JWAT ST &= GRT Sitd T4 IoTd UGl i
TR A 65%:% HH g @ HTST gRT Sl 7T IoTd Ugh! B Hol T fha-it 872

(a) 45

(b) 27



(c) 40

(d) FReifed &Y fosar ST T&HdT 8 mined
(e) 62
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Q13. fieferaT, s iR URd & firaTee ofid T ugs! ot siwa W@ fdant 372
(a) 400/3

(b) 200/3

(c) 500/3

(d) 400/9

(e) 100/3
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Q14. T SfEur 3pIeT RT Sid TR ¥quf ugeh! &t €., ISP GRT Siid T Ieid
UGah! BT 1300/11% & 3R SFEUT SNFIRT gRT Siid T &I UGe &1 WS-, TP gRT
S T gl ugm! S JWAT F RIaR 8. a1 Sf0T 3npieT gRT Siid Y ¥quf ugH) i
T2 fhda-t 87

(a) 15

(b) 11

(c)13

(d) 17

(e) 19
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Q15. Tfe TR gRT Sfid ¢ vl ygs! &1 WA, STAS GIRT Siid 1T TUf Ugh! Bl
dEnd 3" aftre @ o s gRT oA MU ol yew $) W@, S gRTSIA TT

3
TATGH B HBTFT 2 2, A TR g o 7 vl vgw) ot o wem
ITd HIfre?
(a) 70
(b) 95
(c) 80
(d) 100
(e) 90
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Solutions

S1. Ans.(a)
Required percentage of milk

25 6+ x4

— 100 100 =100

10
Sol. =27%

S2. Ans.(a)
Required percentage of water

12 7
=m>§2+mx3+ﬂ.5

T 100

95

~55
190

11
17 3 04
= a0
Sol. 11

S3. Ans.(d)
Let capacity of each container=V
.. Total quantity of milk after mixing

~(s+ 1+ 59)"

61
=35 v
2 3 4
And that of water = (E + ﬁ+ E)v
29
= EU
- Required ratio = —
Sol. ! 61
S4. Ans.(d)
Since acid in first tube = water in second tube
=x |(let)
ATQ,

2 2
(x-20) +3(x+20) = 4[{x+20}—§{x+20}]

=3x-60+2x+40=4=(x+20)
=x=1001

Sol < [nitial quantity of water= 1001
ol.

S5. Ans.(c)



Let initially Dettol was 3x

-~ Final quantity of Dettol
x &4
= 3x(1—§)
_ 3w 16
= 3x ﬁ
_ 16x
T 27
16x
~ Required ratio = 27
LT
=27
16
Sol. 65
S6. Ans.(b)
A's marks = 360
100
B's marks = 360«
=10
=400
100
C's marks =400x
125
=320
100
D's mark =320x—
20
=400
. 400
~ Required percentage = ~o0 * 100
= 8004
Sol.
S7. Ans.(c)
Let total no. of votes was 100x
ATQ,
48x - 44x = 2300
=575
Sol. Total no. of voters = 57500

S8. Ans.(b)



Original price of petrol [per litre) =Rs 28
New price of petrol (per litre) = 28 x %

= 29.96 rupee

Total petrol consumed by Subham's car
. 2400 B 400

= —— =—1

18 3
~ Increment in expenditure

= 22 % (29.96 — 28)

>~ Rs 262
Sol.

S9. Ans.(c)
Let age of boy is X years
2x% — 25x = 14%3
= 2x° —25x—42=0
25+v625+336 25431
x = =
4 4

or, x = ‘1—6 = 14 years

Sol. (neglecting —ve value).

S10. Ans.(b)
Sol. The weight of the second man is 135 and that of the third is 105.
Hence, net result is a drop of 45 for 5 people. Hence, 9 kg is the drop.

S11. Ans.(c)
. 5o 3, 082 77, B
-(35+8+6+11+24']+(113+113+113+113+113)
— 3880
o113
9660
~(100-22) % > 82

Sol.= 100% — 565 = total medals won by all the six countries.

No. of gold medals won by India

=2 x 22 % 565

337 11300
=26

S12. Ans.(d)



. 16 | 62 8
.(35+s+6+11+24)+(m+m+m+ +113)
G560
=1 0

(mn—ﬂ)% 82

Sol.= 1009% — 565 = total medals won by all the six countries.

Answer cannot be determined because there is no information about bronze medals.

S13. Ans.(a)
.. e , 82 8
c(35+8+6+11+20)+( o+ o424 02
_ 5660
T o113 %
(mn—ﬂ)%—:.sz

Sol.= 1009% — 565 = total medals won by all the six countries.

Average no. of medals who by Australia,

England & India together

1 3960 2720 1320
=1y ( + + ] X 565
3 11300 11300 11300

400
3

S14. Ans.(c)
3 5 ., 16,82 77, 8
-(35+8+6+11+24]+(113+113+113+113+113)
_ 3660
=3 10

~ (100-Z2) 96 82

Sol.= 100% — 565 = total medals won by all the six countries.

Let no. of silver medals won by South Africa=x

1200 740
LXT2X—x= X 565
1100 11200

=22 =37
=x=11
~ No. of gold medals won by South Africa
_ 1300 4y
1100
=13

S15. Ans.(c)



y S5 , 16 , 82 77 , 8
-{35"‘8"‘6"'11+24']+(113+J_13+113+1J.3+113)
_ 9660
T o113

9660
..(mn—m)%—mz

Sol.= 1009% — 565 = total medals won by all the six countries.

No. of gold medals won by England
_ 125, 2720 o
3400~ 11300
=45
~ No. of gold medals won by Australia
_ 1600,
300

=80



